
St. Mary’s School, Dwarka 

Practice Worksheet (May) 

Class: V 

Subject: English 

 

Topic: L-1, Visiting France 

1. Read the passage and answer the questions that follow. 

Pandit Ravi Shankar was born in Varanasi in the year 1920. He was the youngest of the 

seven brothers. At the age of ten, he went to Paris with his brother Uday Shankar’s dance 

troupe. By the age of thirteen, he had become a member of the troupe and learnt to dance 

and play various Indian musical instruments. 

He toured Europe and the United States in the early 1930s. He enriched his travel by 

learning French, discovering Western classical music, jazz and cinema. However, the call 

of music was greater, and Pandit Ravi Shankar left the ballet troupe to learn sitar under 

Ustad Allauddin Khan of Maihar.  

Ravi Shankar underwent rigorous training under his Ustad. He practiced for long hours to 

master the instrument. He has been one of the most brilliant sitarist the world has known. 

He has been awarded the Padma Vibhushan, the Magsaysay Award, the Polar Music Prize 

and the Bharat Ratna. He is also the recipient of three Grammy awards.  

He composed a new Raga for the fiftieth anniversary of India’s Independence and named it 

‘Raga Swarna’. 

a) When and where was Pandit Ravi Shankar born? What did he do at the age of ten?  

______________________________________________________________________ 

______________________________________________________________________ 

b) Why did Pandit Ravi Shankar leave his ballet troupe? 

______________________________________________________________________ 

______________________________________________________________________ 

c) What are his main achievements? 

______________________________________________________________________ 

______________________________________________________________________ 

d) Make sentences of your own using the words given below. 

 

i) discovered – __________________________________________________________ 

 

ii) awarded – ____________________________________________________________ 

 

e) Find a word from the passage which means the same as the given word. 

 

i) crew – ____________   ii) uncovering – ________________ 



2. Answer the following questions. 

   a) What did Mr. Rajan say about Paris? 

______________________________________________________________________ 

______________________________________________________________________ 

  b) What did Mr. Rajan tell his daughters about France? 

______________________________________________________________________ 

______________________________________________________________________ 

3. Fill in the blanks with the correct words given in the bracket. 

a) The rabbits hid behind the ___________ of trees. (clump/herd) 

b) I saw a ___________ of ants in the forest. (mob/colony) 

c) The ___________ clapped after the performance. (herd/audience) 

d) The ___________ of soldiers marched forward. (regiment/team) 

4. Fill in the blanks with the correct form of the words given in the brackets. 

a) King Solomon was known for his ___________. (wise) 

b) Practice brings ___________. (perfect) 

c) ___________ of food should not be done. (waste) 

d) He was very naughty in his ___________. (child) 

5. Fill in the blanks with the correct form of words given in the brackets. 

     a) That book has funny ___________. (story) 

     b) These ___________ are new. (glove) 

     c) A litter of ___________ was eating food. (puppy) 

     d) There were many sharp ___________ at the store. (knife) 

6.Write ‘C’ for countable and ‘U’ for uncountable nouns. 

     a) brick  ___  f) tea  ___ 

     b) salt  ___  g) ice-cubes ___ 

     c) air  ___  h) gold ___ 

     d) coin  ___  i) milk ___ 

     e) oil  ___  j) men ___ 
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Std: V 

Subject: Mathematics  

       Topic : L2 - Four Operations 

       1. Fill in the blanks.        

      a)  89,99,990 + 1,00,010 =  90,00,000  +  ____________ 

      b)  99,999 + 1 = __________ 

      c)  53,21,976  +  23,89,420 = ____________ 

      d)  38,49,012 – 9,012 = ____________ 

      e) 10,00,000 – 9 = 9,99,990 + ________ 

      f)  8,990 + 10,000 + 2,39,567 = _____________ 

      g)  7,693 x 1,000 = _____________ 

      h)  Find the missing operations:   9,999 ____ 1 ____ 10,000 = 0 (Insert +, –, × or ÷ ) 

      2. Find the product.   

      a) 7,437 x 408                              b) 5,924 x 6,657                                 c) 36,967 × 56 

 

 

 

 
 

    

3. Divide the following. 
 

a)  54,396 ÷ 4                        b) 24,925 ÷ 27                               c) 49,413 ÷ 78                                    

  

 

 

 

 

 

 

                                               
  

 

  

 

   



 4. Fill in the blanks using the relation:   

 

 Divisor × Quotient + Remainder = Dividend 

 

a) 59 × 6 + _______  = 359 

b) 9 × 7 + ________  =   69 

c) _______ x 25 + 2  =   277 

d) 10 × 1000  +  10   =   __________ 

 

          5.  

a) What number is 203 less than 5,263?     _________ 

        b) What number must be added to the number 3,49,901 to make the sum 3,50,000? _______ 

  

 6. 

  a)   Find the difference between 20 and the sum of 10 and 3.      _______ 

  b)  Divide the product of 10 and 8 by the difference of 12 and 2.   _________ 

  c)  Add the quotient of 50 when divided by 5 to the product of 6 and 7.  _________ 

 

  7.  

  a) What should be multiplied to 125  to get ten thousand?  _________ 
 

  b)  Find the number which is 23,568 more than 98,57,023.   

        ________________________________________________________________________ 

          

  c) Divide the smallest 8-digit number by the smallest 4-digit number.   

        ________________________________________________________________________ 

 

   8.  Fill in the blanks: 
 

    a)  2,875 x ________ = 0                                                    b) 1 x 8,288 = __________ 

    c)  _______ x 4,200 = 4,200 x 8,175                                  d) 861 x 900 = __________ 

    e)  2,369 x 60 = __________                                               f) _______ ÷ 35 = 0 

    g)  12,547 ÷ 1 = __________                                              h) 1,379 x ________ = 1,37,900 

    i)  789 x 5000 = __________                                               j) 139 ÷ _______ = 1 

    k) 56.700 ÷ 30 = __________                                              l) 9,170 ÷ 70 = _________ 

   9.  Write the quotient and remainder. 

   a)  243 ÷ 10                 Q = ______                 R = ________                     

   b)  31,794 ÷ 100          Q = ______                 R = ________ 
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Subject: EVS 

 

 

L-2, Different but Special 

L-8, How Plants Grow 

1. Define the following terms. 

a) Seed coat: 

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________ 

b) Sign language: 

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________ 

2. Differentiate between Monocot and Dicot seeds. 

 

Monocot seed Dicot seed 

1.   

2.   

3.   

 Structure 

 

 

 

 

 

 

 

3. What is Braille? How is it useful? 

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________

_________________________________________________________________________ 



4. What special features do the seeds dispersed by wind have? Give examples. 

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________ 

 

5. How are ramps helpful for the people in wheelchairs? Where do you usually find 

them? 

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________ 

_________________________________________________________________________ 

 

6. Complete the table. 

State of India Famous festival Dance form Language spoken 

West Bengal    

Punjab    

Kerala    

 

 7. Complete the G.O by writing two examples for the different methods of vegetative  

     reproduction in plants.                                    

 

 

 

 

 

 

 

 

 

Vegetative 

Reproduction 

Roots:  Stem Cutting:  

Leaves:  Underground stems:  
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  Class: V 

        Subject: Hindi 
    ikB&3] Hkhe jko dh deht+ 

1- fuEufyf[kr xn~;ka’k dks i<+dj iz’uksa ds mŸkj fyf[k, A 

gekjs ns'k ds >aMs esa rhu jax gSa] blfy, bls ^frjaxk* dgk tkrk gSA frjaxs esa lcls Åij dslfj;k 

jax gSA og cfynku dk jax gSA chp esa lQ+sn jax gS] tks “kkafr dk izrhd gSA lcls uhps gjk jax 

gS] tks gfj;kyh o mUufr dk izrhd gSA blds chp esa ,d pØ gksrk gS] ftls ^v’kksd pØ* dgrs 

gSaA ;g gesa lans'k nsrk gS] ^pyrs jgks ----:dks erA* tc Hkh ge [ksyksa esa ;k ;qn~/k esa thrrs gSa rks 

gekjs ns’k dk uke Å¡pk gksrk gS] rc [kq'k gksdj ge frjaxk ygjkrs gSaA 15 vxLr vkSj 26 tuojh 

dks frjaxk Qgjk;k tkrk gSA 15 vxLr dks iz/kkuea=h ykyfdys ij bls Qgjkrs gSaA frjaxk gekjs 

ns’k dh “kku gSA ;g gesa izk.kksa ls Hkh I;kjk gSA ge bls iz.kke djrs gSaA    

 

d½ gekjs jk"Vªh; >aMs dk gjk jax fdldk izrhd gS\      

_________________________________________________________________

_________________________________________________________________ 

  [k½ ^v’kksd pØ* D;k lans'k nsrk gS\ 

_________________________________________________________________ 

_________________________________________________________________  

 x½ jk"Vªh; >aMk dc Qgjk;k tkrk gS\  

_________________________________________________________________

_________________________________________________________________ 

  ?k½ xn~;ka’k esa ls ,d feyrk&tqyrk ’kCn <w¡<dj fyf[k,A 

_________________________________________________________________

_________________________________________________________________ 

 

2 fn, x, ’kCnksa ls okD; cukb,A 

  d½ I;kjk & ---------------------------------------------------------------------------------------------------------------------------------------- 

  [k½ “kkafr & ---------------------------------------------------------------------------------------------------------------------------------------- 

 

3-fn, x, ’kCnksa ds fyax cnydj fyf[k,A 

  d½ ekyh  & --------------------------------------------------- 

  [k½ ckyd  & ---------------------------------------------------- 



  x½ f’k{kd  & ---------------------------------------------------- 

  ?k½ ;qod  & ---------------------------------------------------- 

  ³½ nsoh  & ----------------------------------------------------  

 

4- fn, x, 'kCnksa ds opu cnydj fyf[k,A     

  d½ :i;k  & --------------------------------------------------- 

  [k½ cgw  & --------------------------------------------------- 

  x½ pqfg;k  & --------------------------------------------------- 

  ?k½ Mkfy;k¡ & --------------------------------------------------- 

  ³½ pkdw  & --------------------------------------------------- 

 

5- fn, x, iz'uksa ds mŸkj fyf[k,A 

  d½ deht+ cukus ds fy, pwgs us D;k fd;k\ 

_________________________________________________________________ 

_________________________________________________________________

_________________________________________________________________ 

 

  [k½ fxygjh us deht+ dks fdl rjg ltk;k\ 

_________________________________________________________________ 

_________________________________________________________________

_________________________________________________________________ 

 

6- fn, x, n~foRo O;atuksa ls nks&nks 'kCn cukb,A 

   d½ n~n &    ---------------------------------------------------- 

   [k½ Pp &    ---------------------------------------------------- 

   x½ Rr &    ---------------------------------------------------- 

   ?k½ V~V &    ---------------------------------------------------- 


